
    
             
               

                       ,   ,  
                          
     ,   (////// –      )  , 
 ()  ,                        
    

.  ..............    
()   ()  ()  ()    
. ‘     ’––    ? 
()   ()   ()   () 
.         
....................  
()  ()  ()  ()   
.       ?
()  ()  ()  () 
.       ?
()  ()  ()  ()   
. ‘   ’––  ?
()  ()  ()  ()  
.      ?
()  ()  ()  ()  
.       ?
()            () 
   ()      () 
 -     
.      ?
()  ()  ()  ()  
.         
  ?
()  ()   ()  ()   

. () . () . () . () . () . () . () . () . () 
. () 

. ‘+’ -     ?
()  ()  ()   ()   
. -    ?
() + () + () + () + 
.  ––   ?
()   ()   ()   ()  

. ––   ?
()    ()   ()   ()
 
. ––   ?
() + () + () + () +

. ‘’   
() + () + () + () + 
. ––  
() + () + () + () + 
. ––  
()   ()    ()    ()
   
.    
()  ()  ()  ()  
.    
()  ()  ()  ()   

. () . () . () . () . () . () . () . () . ()
. ()

Directions (Q 1-5): In questions given below out of

four alternatives, choose the one which can be sub-

stituted for the given word/ sentence.

1. Extreme old age when a man behaves like a fool

(a) Imbecility (b) Senility (c) Dotage 

(d) Superannuation

2. That which cannot be corrected

(a) Unintelligible (b) Indelible (c) Illegible 

(d) Incorrigible 

3. The study of ancient societies

(a) Anthropology (b) Archaeology (c) History 

(d) Ethnology

4. A person of good understanding, knowledge and

reasoning power

(a) Expert (b) Intellectual (c) Snob (d) Literate 

5. A person who insists on something

(a) Disciplinarian (b) Stickler (c) Instantaneous 

(d) Boaster

Directions (Q 6-10): In the following questions
choose the word which best expresses the meaning of
the given word.
6. Part

(a) Portion (b) Whole (c) Division (d) None of these 

7.  Active

(a) Energetic (b) Please (c) Alert (d) Heroic 

8. Ordinary

(a) Apathy (b) Usual (c) Atrocious (d) Rare 

9. Entire

   

 : 

SECOND LANGUAGE: ENGLISH



(a) Whole (b) Renounce (c) Partial (d) Return 

10. Lonely

(a) Crowded (b) Mystery (c) Solitary (d) Accompany

ANSWERS

1. (c) 2. (d) 3. (b) 4. (b) 5. (b) 6. (a) 7. (a) 8. (b) 9. (a)

10. (c) 

.       
 ?
()      ()      () 
     ()       
.     ..............
()     ()     ()    
()    
.      ?
()  ()  ()  ()  
.      ? 
() ,  () ,  () ,  
() ,    
.      ?
()   ()   ()    
()     
.     ................
()     ()      
()      ()   
 
.        ?
()      ()     
()     ()     
.    ?
()  ()  ()  () 
.       ?
()  ()  ()  () 
.     ?
()  ()   ()     
()  

. () . () . () . () . () . () . () . () . ()
. () 

1.   35%  , 24%  
 14%         

   ?
(a) 40% (b) 45% (c) 50% (d) 55%

2.    20%     
300        405   ,
       
(a) 8% (b) 10% (c) 9% (d) 18%

3.   17  85     16

    3    17     
  ?
(a) 31 (b) 37 (c) 40 (d) 33

ANSWERS

1. (d)  ,    = 100. 35% -
   ,    = (100-
35%)   35  24% -    ,
   = (100- 24%)   24 
,     14% -
     = (100- 14%)  14 
     = (35 – 14) = 21 
     = (24 – 14) = 10 
   ,    ,   
 = (21 + 10 + 14)   45 
     = (100 – 45)   55  
 55%.

2. (a)   = 300× = 375  , 20%

    calculating figure-  100  (100

– 20)  80

,  =

=

3. (a)  , 16     x.

16     = (16_5x) = 16x

17    = (x + 3)

17    = (x + 3)×17

, 17     (16x + 85)

, 
(x + 3)17 = 16x + 85

Or, 17x + 51 = 16x + 85

Or, 17x – 16x = 85 – 51

∴ x = 34.

∴ 17       – (34 + 3) = 37.



 


